

H. P. DIKSHIT (*)

A Theorem on the Absolute Nörlund Summability of a Fourier Series. (**)

1.1. - Definitions. Let $\sum a_n$ be a given infinite series and $\{s_n\}$ the sequence of its partial sums. Let $\{p_n\}$ be a sequence of constants real or complex, and let us write

$$P_n = p_0 + p_1 + \dots + p_n, \quad P_{-1} = p_{-1} = 0.$$

The sequence-to-sequence transformation:

$$(1.1.1) \quad t_n = \sum_{\nu=0}^n p_{n-\nu} s_\nu / P_n = \sum_{\nu=0}^n P_\nu a_{n-\nu} / P_n \quad (P_n \neq 0),$$

defines the sequence $\{t_n\}$ of NÖRLUND means ⁽¹⁾ of the sequence $\{s_n\}$, generated by the sequence of coefficients $\{p_n\}$. The series $\sum a_n$ is said to be summable (N, p_n) to the sum s if $\lim_{n \rightarrow \infty} t_n$ exists and is equal to s , and is said to be absolutely summable (N, p_n) , or summable $|N, p_n|$, if the sequence $\{t_n\}$ is of bounded variation, that is, $\sum |t_n - t_{n-1}| < \infty$, or symbolically, $\{t_n\} \in BV$.

In the special case in which $p_n = 1/(n+1)$, this method of summability is called *harmonic summability* ⁽²⁾.

(*) Indirizzo: Department of Mathematics, University of Allahabad, Allahabad, India.

(**) Ricevuto: 11-V-1965.

⁽¹⁾ NÖRLUND [3]. Substantially the same definition is also due to WORONOI; see WORONOI [7], which is the English translation by Prof. J. D. TAMARKIN of the original paper of WORONOI: Proc. 11th Congress of Russian Naturalists and Scientists, St. Petersburg (1902), pp. 60-61.

⁽²⁾ RIESZ [4].

1.2. - Let $f(t)$ be a periodic function with period 2π and integrable in the LEBESGUE sense over $(-\pi, \pi)$. We assume without any loss of generality, that the constant term in the FOURIER series of $f(t)$ is zero, so that

$$(1.2.1) \quad \int_{-\pi}^{\pi} f(t) dt = 0$$

and

$$(1.2.2.) \quad f(t) \sim \sum_{n=1}^{\infty} (a_n \cos nt + b_n \sin nt) = \sum_n A_n(t).$$

We use the notations:

$$\Phi(t) = f(x+t) + f(x-t) - 2f(x),$$

$$\alpha(t) = \sum_{k=0}^{\infty} p_k \cos kt, \quad \beta(t) = \sum_{k=0}^{\infty} p_k \sin kt,$$

$$\alpha_n = \int_0^{\pi} \Phi(t) \alpha(t) \cos nt dt, \quad \beta_n = \int_0^{\pi} \Phi(t) \beta(t) \sin nt dt,$$

$\omega(\delta)$ = the modulus of continuity of $f(t)$ ⁽³⁾,

$\omega_1(\delta)$ = the modulus of continuity of $\Phi(t)$,

$\tau = [1/t]$, that is the greatest integer contained in $1/t$,

$$P_{[1/n]} = P(1/n),$$

K is a positive constant, not necessarily the same at each occurrence.

By $F(t) \in BV(h, k)$ we mean that $F(t)$ is a function of bounded variation over (h, k) .

1.3. - With regard to the absolute harmonic summability of FOURIER series at a point, VARSHNEY proved the following theorem.

⁽³⁾ Let $f(x)$ be a function defined for $a < x < b$; let $\omega(\delta) = \text{Max} |f(x_1) - f(x_2)|$ for all x_1, x_2 belonging to (a, b) and such that $|x_1 - x_2| < \delta$. The function $\omega(\delta)$ is called the modulus of continuity of $f(x)$.

Theorem A ⁽⁴⁾. If $f(x) \in BV(0, 2\pi)$ and satisfies the condition

$$|f(x+h) - f(x)| \leq K \log^{-1-\varepsilon}(1/h) \quad (\varepsilon > 0, 0 \leq x \leq 2\pi),$$

then the FOURIER series of $f(t)$, at $t = x$, is absolutely harmonic summable.

This theorem has been generalised by SHAH in the following form.

Theorem B ⁽⁵⁾. If $f(x) \in BV(0, 2\pi)$ and is also continuous over $(0, 2\pi)$, and the series

$$\sum_{n=1}^{\infty} \frac{1}{n} \omega\left(\frac{1}{n}\right)$$

is convergent, then the FOURIER series of $f(t)$, at $t = x$, is absolutely harmonic summable.

In the present paper we establish the following more general theorem :

Theorem. If $f(t) \in BV(0, 2\pi)$,

$$(i) \quad \omega\left(\frac{1}{n}\right) = o(1) \quad \text{as } n \rightarrow \infty,$$

and

$$(ii) \quad \sum_{n=1}^{\infty} \frac{1}{n} \omega\left(\frac{1}{n}\right) < \infty,$$

then the Fourier series of $f(t)$, at $t = x$, is summable $|\mathbb{N}, p_n|$, when the generating sequence $\{p_n\}$ satisfies the conditions

$$(iii) \quad \frac{d}{dt} \alpha(t + \lambda) = O(1/t) \quad \text{for } 0 < \lambda < \pi/2 \text{ and } 0 < t \leq \pi,$$

(iv) $\{p_n\}$ is a positive monotonic non-increasing sequence such that $\{\Delta p_n\}$ is also non-increasing,

$$(v) \quad \sum_{n=1}^{\infty} 1/P_{2^n}^2 \leq K,$$

⁽⁴⁾ VARSHNEY [6].

⁽⁵⁾ SHAH [5].

and

$$(vi) \quad \int_0^{\delta} P^2(1/t) dt = O(P^2(1/\delta) \cdot \delta) \quad \text{for } 0 < \delta \leq \pi.$$

2.1. - We require the following lemmas for the proof of our theorem.

Lemma 1. *We have*

$$|\Phi(t)| \leq 2 \omega(t), \quad \omega_1(t) \leq 4 \omega(t).$$

The proof is easy.

Lemma 2 ⁽⁶⁾. *If $\{p_n\}$ is non-negative and non-increasing, then for $0 \leq a \leq b \leq \infty$, $0 \leq t \leq \pi$, and any n , we have*

$$\left| \sum_{k=a}^b p_k e^{i(n-k)t} \right| \leq \begin{cases} K P(1/t) \\ K p_a/t \end{cases} \quad \text{for } a \geq [t^{-1}].$$

Lemma 3 ⁽⁷⁾. *If $\{p_n\}$ is non-negative and non-increasing, then*

$$(P_0 + P_1 + \dots + P_n) p_n / P_n \leq P(1/t),$$

for $t \leq \frac{1}{n}$.

Lemma 4. *If $P_n \rightarrow \infty$ as $n \rightarrow \infty$, then*

$$\sum_{n=m+1}^{\infty} p_n / (P_n P_{n-1}) = 1/P_m.$$

The proof is easy, since $p_n = P_n - P_{n-1}$ and $P_n \rightarrow \infty$ as $n \rightarrow \infty$.

Lemma 5. *If $\int_0^{\delta} P^2(1/t) dt = O(P^2(1/\delta) \cdot \delta)$, then*

$$\int_0^{\delta} P(1/t) dt = O(P(1/\delta) \cdot \delta).$$

⁽⁶⁾ McFADDEN [1], Lemma (5.11).

⁽⁷⁾ McFADDEN [1], Lemma (5.12).

Proof. By SCHWARZ'S inequality we have

$$\begin{aligned} \int_0^\delta P(1/t) dt &\leq \left\{ \int_0^\delta dt \right\}^{1/2} \left\{ \int_0^\delta P^2(1/t) dt \right\}^{1/2} \\ &\leq K \delta^{1/2} P(1/\delta) \delta^{1/2} \\ &\leq K \delta P(1/\delta). \end{aligned}$$

Lemma 6. If $\sum_n \frac{1}{n} \omega(1/n) < \infty$, then

$$\sum_{n=1}^{\infty} \omega(\pi/2^n) < \infty.$$

Proof. We have

$$\omega(\pi/2^n) = \frac{1}{\log 2} \omega(\pi/2^n) \int_{2^{n-1}/\pi}^{2^n/\pi} \frac{dt}{t} \leq \frac{1}{\log 2} \int_{2^{n-1}/\pi}^{2^n/\pi} (1/t) \omega(1/t) dt.$$

Therefore

$$\sum_n \omega(\pi/2^n) \leq \frac{1}{\log 2} \sum_{n=2}^{\infty} \int_{2^{n-1}/\pi}^{2^n/\pi} (1/t) \omega(1/t) dt$$

$$(2.1.1) \quad \leq K \int_{2/\pi}^{\infty} (1/t) \omega(1/t) dt.$$

Again we have already $\sum_n \frac{1}{n} \omega(1/n) < \infty$. Now

$$\frac{1}{n} \omega\left(\frac{1}{n}\right) > \int_n^{n+1} \omega\left(\frac{1}{t}\right) \frac{1}{t} dt.$$

Therefore

$$\sum_{n=1}^{\infty} \frac{1}{n} \omega\left(\frac{1}{n}\right) > \int_1^{\infty} \frac{1}{t} \omega\left(\frac{1}{t}\right) dt.$$

Thus

$$\int_1^{\infty} \frac{1}{t} \omega(1/t) dt \leq K.$$

Hence by (2.1.1) the result follows.

Lemma 7. If $\sum_{n=1}^{\infty} 1/P_{2^n} \leq K$ and $\sum_n \frac{1}{n} \omega(1/n) < \infty$, then

$$\sum_{n=1}^{\infty} \{\omega^{1/2}(\pi/2^n)\}/P_{2^n} \leq K.$$

Proof. By SCHWARZ'S inequality and the result of Lemma 6, we get

$$\sum_{n=1}^{\infty} \frac{1}{P_{2^n}} \omega^{1/2}(\pi/2^n) \leq \left\{ \sum_{n=1}^{\infty} 1/P_{2^n} \right\}^{1/2} \left\{ \sum_{n=1}^{\infty} \omega(\pi/2^n) \right\}^{1/2} \leq K.$$

Lemma 8. If $\sum_n \frac{1}{n} \omega(1/n) < \infty$, then

$$(i) \quad \lim_{x \rightarrow \infty} \{\omega(1/x) \log x\} = 0,$$

$$(ii) \quad \sum_1^{\infty} \frac{1}{2^{n/2}} \frac{1}{P_{2^n}} \left\{ \int_{1/\pi}^{2^{n+1}/\pi} \omega^2(1/t) dt \right\}^{1/2} < \infty,$$

whenever $\sum_{n=1}^{\infty} 1/P_{2^n} < \infty$.

Proof. The result (i) is due to SHAH⁽⁸⁾.

We have, for a fixed n_0 (sufficiently large),

$$\begin{aligned} \int_{1/\pi}^{2^{n+1}/\pi} \omega^2(1/t) dt &= O(1) + \int_{n_0}^{2^{n+1}/\pi} \omega^2(1/t) dt \\ &= O(1) + K \int_{n_0}^{2^{n+1}/\pi} \frac{dt}{(\log t)^2} \\ &= O(1) + K \frac{2^n}{n^2}. \end{aligned}$$

⁽⁸⁾ SHAH [5], Lemma 1 (i).

Thus to establish (ii), it is enough to prove that

$$\sum_1^{\infty} \frac{1}{2^{n/2}} \frac{1}{P_2^n} < \infty, \quad \sum_1^{\infty} \frac{1}{2^{n/2}} \frac{1}{P_2^n} \frac{2^{n/2}}{n} < \infty.$$

Now

$$\sum_1^{\infty} \frac{1}{2^{n/2}} \frac{1}{P_2^n} \leq \frac{1}{P_2} \sum_1^{\infty} \frac{1}{2^{n/2}} \leq K.$$

And, by SCHWARZ'S inequality, we get

$$\sum_1^{\infty} \frac{1}{n} \frac{1}{P_2^n} \leq \left\{ \sum_1^{\infty} \frac{1}{n^2} \right\}^{1/2} \left\{ \sum_1^{\infty} \frac{1}{P_2^{2n}} \right\}^{1/2} \leq K,$$

by the hypothesis that $\sum_1^{\infty} \frac{1}{P_2^{2n}} \leq K$.

Lemma 9. *If $\{p_n\}$ is positive, monotonic non-increasing, then for all positive integers n , we have*

$$P_{2^n}/P_{2^{n-1}} \leq K.$$

Proof. We have

$$\begin{aligned} P_{2^n}/P_{2^{n-1}} &= (P_{2^{n-1}} + p_{2^{n-1}+1} + \dots + p_{2^n})/P_{2^{n-1}} \\ &\leq 1 + 2^{n-1} p_{2^{n-1}}/P_{2^{n-1}} \quad (\text{since } p_n \text{ is monotonic non-increasing}) \\ &\leq 1 + P_{2^{n-1}}/P_{2^{n-1}} \leq 2, \end{aligned}$$

since $n p_n \leq P_n$.

2.2. - Proof of the Theorem. From (1.1.1) we have

$$\begin{aligned} t_n - t_{n-1} &= \sum_{k=0}^{n-1} \left(\frac{P_k}{P_n} - \frac{P_{k-1}}{P_{n-1}} \right) a_{n-k} \\ &= \frac{1}{P_n P_{n-1}} \sum_{k=0}^{n-1} (P_n p_k - p_n P_k) a_{n-k}. \end{aligned}$$

For the FOURIER series of $f(t)$, at $t = x$,

$$a_{n-k} = A_{n-k}(x) = \frac{1}{\pi} \int_0^{\pi} \Phi(t) \cos(n-k)t \, dt,$$

so that

$$\begin{aligned} t_n - t_{n-1} &= \frac{1}{\pi} \int_0^{\pi} \Phi(t) \left\{ \frac{1}{P_n P_{n-1}} \sum_{k=0}^{n-1} (P_n p_k - p_n P_k) \cos(n-k)t \right\} dt \\ &= \frac{1}{\pi} \frac{1}{P_n P_{n-1}} \int_0^{\pi} \Phi(t) \left\{ \left(\sum_{k=0}^{\infty} P_n p_k - \sum_{k=n}^{\infty} P_n p_k - \sum_{k=0}^{n-1} p_n P_k \right) \cos(n-k)t \right\} dt. \end{aligned}$$

Thus

$$\begin{aligned} \pi |t_n - t_{n-1}| &\leq \frac{1}{P_{n-1}} \left| \int_0^{\pi} \Phi(t) \left(\sum_{k=0}^{\infty} p_k \cos(n-k)t \right) dt \right| \\ &\quad + \frac{1}{P_{n-1}} \left| \int_0^{\pi} \Phi(t) \left(\sum_{k=n}^{\infty} p_k \cos(n-k)t \right) dt \right| \\ &\quad + \frac{p_n}{P_n P_{n-1}} \left| \int_0^{\pi} \Phi(t) \left(\sum_{k=0}^{n-1} P_k \cos(n-k)t \right) dt \right| \\ &\quad + \frac{1}{P_{n-1}} \left| \int_{1/n}^{\pi} \Phi(t) \left(\sum_{k=n}^{\infty} p_k \cos(n-k)t + \frac{p_n}{P_n} \sum_{k=0}^{n-1} P_k \cos(n-k)t \right) dt \right| \\ &= T_1(n) + T_2(n) + T_3(n) + T_4(n), \quad \text{say.} \end{aligned}$$

Now, in order to prove our theorem we show that

$$\sum_{n=1}^{\infty} T_i(n) \leq K \quad (i = 1, 2, 3, 4).$$

Applying Lemma 2, we have

$$\begin{aligned}
 \sum_{n=1}^{\infty} T_2(n) &\leq \sum_{n=1}^{\infty} \frac{1}{P_{n-1}} \int_0^{1/n} |\Phi(t)| \left| \sum_{k=n}^{\infty} p_k \cos(n-k)t \right| dt \\
 &\leq K \sum_{n=1}^{\infty} \frac{1}{P_{n-1}} \int_0^{1/n} \omega(t) P(1/t) dt \\
 &\leq K \sum_{n=1}^{\infty} \frac{1}{P_{n-1}} \omega(1/n) \int_0^{1/n} P(1/t) dt \\
 &\leq K \sum_{n=1}^{\infty} \omega(1/n) P_n / (n P_{n-1}) \quad (\text{by Lemma 5}) \\
 &\leq K \sum_{n=1}^{\infty} \frac{1}{n} \omega(1/n) \leq K,
 \end{aligned}$$

by virtue of the hypothesis (ii).

Also by Lemma 3, we get

$$\begin{aligned}
 \sum_{n=1}^{\infty} T_3(n) &= \sum_{n=1}^{\infty} \frac{p_n}{P_n P_{n-1}} \left| \int_0^{1/n} \Phi(t) \sum_{k=0}^{n-1} P_k \cos(n-k)t dt \right| \\
 &\leq K \sum_{n=1}^{\infty} \frac{1}{P_{n-1}} \frac{P_0 + P_1 + \dots + P_{n-1}}{P_n} p_n \int_0^{1/n} |\Phi(t)| dt \\
 &\leq K \sum_{n=1}^{\infty} \frac{1}{P_{n-1}} \int_0^{1/n} \omega(t) P(1/t) dt \leq K,
 \end{aligned}$$

proceeding as in the proof of $\sum_{n=1}^{\infty} T_2(n) \leq K$.

Applying ABEL's transformation we get ⁽⁹⁾

$$\sum_{k=n}^{\infty} p_k \cos(n-k)t = \frac{1}{2} p_n + \sum_{k=n}^{\infty} \Delta p_k \frac{\sin(n-k+\frac{1}{2})t}{2 \sin(t/2)}$$

and

$$\sum_{k=0}^{n-1} P_k \cos(n-k)t = \sum_{k=0}^{n-1} p_k \frac{\sin(n-k+\frac{1}{2})t}{2 \sin(t/2)} - \frac{1}{2} P_{n-1}.$$

Therefore

$$\begin{aligned} T_4(n) &\leq \frac{1}{P_{n-1}} \left| \int_{1/n}^{\pi} \frac{\Phi(t)}{2 \sin(t/2)} \sum_{k=n}^{\infty} \Delta p_k \sin(n-k+\frac{1}{2})t \, dt \right| \\ &\quad + \frac{p_n}{P_n P_{n-1}} \left| \int_{1/n}^{\pi} \frac{\Phi(t)}{2 \sin(t/2)} \sum_{k=0}^{n-1} p_k \sin(n-k+\frac{1}{2})t \, dt \right| \\ &\quad + \frac{1}{2} \frac{p_n}{P_{n-1}} \left(1 - \frac{P_{n-1}}{P_n} \right) \left| \int_{1/n}^{\pi} \Phi(t) \, dt \right| \\ &= T_{41}(n) + T_{42}(n) + T_{43}(n), \quad \text{say.} \end{aligned}$$

By virtue of Lemma 2, since here we have $n \geq t^{-1}$,

$$\begin{aligned} T_{41}(n) &\leq K \frac{\Delta p_n}{P_{n-1}} \int_{1/n}^{\pi} \frac{|\Phi(t)|}{2 \sin(t/2)} t^{-1} \, dt \quad (\text{by ABEL's lemma}) \\ &\leq K \frac{\Delta p_n}{P_{n-1}} \int_{1/n}^{\pi} \omega(t) t^{-2} \, dt \\ &= K \frac{\Delta p_n}{P_{n-1}} \int_{1/\pi}^n \omega(1/t) \, dt. \end{aligned}$$

⁽⁹⁾ McFADDEN [1].

Therefore

$$\begin{aligned}
 \sum_{n=1}^{\infty} T_{41}(n) &\leq K \sum_{n=1}^{\infty} \frac{\Delta p_n}{P_{n-1}} \left(K + \sum_{k=1}^n \omega\left(\frac{1}{k}\right) \right) \\
 &\leq \frac{K}{P_0} \sum_{n=1}^{\infty} \Delta p_n + K \sum_{n=1}^{\infty} \frac{\Delta p_n}{P_{n-1}} \sum_{k=1}^n \omega(1/k) \\
 &\leq K + K \sum_{k=1}^{\infty} \omega(1/k) \sum_{n=k}^{\infty} \frac{\Delta p_n}{P_{n-1}} \\
 &\leq K + K \sum_{k=1}^{\infty} \omega(1/k) \frac{1}{P_{k-1}} \sum_{n=k}^{\infty} \Delta p_n \\
 &\leq K + K \sum_{k=1}^{\infty} \omega(1/k) \frac{p_k}{P_{k-1}} \\
 &\leq K + K \sum_{k=1}^{\infty} \omega(1/k) \frac{1}{k} \frac{P_{k-1}}{P_{k-1}}
 \end{aligned}$$

(since p_k is monotonic non-increasing and therefore $k p_k \leq k p_{k-1} \leq P_{k-1}$)

$$\leq K + K \sum_{k=1}^{\infty} \frac{1}{k} \omega\left(\frac{1}{k}\right) \leq K,$$

by virtue of the hypothesis (ii).

Now we proceed to consider $\sum T_{42}(n)$.

$$\begin{aligned}
 T_{42}(n) &\leq \frac{p_n}{P_n P_{n-1}} \int_{1/n}^{\pi} \frac{\omega(t)}{\sin(t/2)} \left| \sum_{k=0}^{n-1} p_k \sin(n - k + \frac{1}{2})t \right| dt \\
 &\leq K \frac{p_n}{P_n P_{n-1}} \int_{1/n}^{\pi} \frac{\omega(t)}{t} P(1/t) dt \quad (\text{by Lemma 2}) \\
 &= K \frac{p_n}{P_n P_{n-1}} \int_{1/n}^{\pi} \omega\left(\frac{1}{t}\right) P(t) \frac{1}{t} dt \\
 &\leq K \frac{p_n}{P_n P_{n-1}} \left\{ K + \sum_{k=1}^n \omega\left(\frac{1}{k}\right) P_{k+1} \frac{1}{k} \right\}.
 \end{aligned}$$

Therefore

$$\begin{aligned}
 \sum_{n=1}^{\infty} T_{42}(n) &\leq K \sum_{n=1}^{\infty} \frac{p_n}{P_n P_{n-1}} + K \sum_{n=1}^{\infty} \frac{p_n}{P_n P_{n-1}} \sum_{k=1}^n \omega\left(\frac{1}{k}\right) P_{k+1} \frac{1}{k} \\
 &\leq K \sum_{n=1}^{\infty} \frac{p_n}{P_n P_{n-1}} + K \sum_{k=1}^{\infty} \frac{1}{k} \omega\left(\frac{1}{k}\right) P_{k+1} \sum_{n=k}^{\infty} \frac{p_n}{P_n P_{n-1}} \\
 &\leq K + K \sum_{k=1}^{\infty} \frac{1}{k} \omega\left(\frac{1}{k}\right) \frac{P_{k+1}}{P_{k-1}} \quad (\text{by Lemma 4}) \\
 &\leq K + K \sum_{k=1}^{\infty} \frac{1}{k} \omega\left(\frac{1}{k}\right) \leq K,
 \end{aligned}$$

by virtue of the hypothesis (ii).

Next,

$$\begin{aligned}
 T_{43}(n) &= \frac{1}{2} p_n \Delta\left(\frac{1}{P_{n-1}}\right) \left| \int_{1/n}^{\pi} \Phi(t) dt \right| \\
 &\leq K p_n \Delta\left(\frac{1}{P_{n-1}}\right) \int_{1/n}^n \omega\left(\frac{1}{t}\right) \frac{1}{t^2} dt \\
 &\leq K p_n \Delta\left(\frac{1}{P_{n-1}}\right) \left\{ K + \sum_{k=1}^n \frac{1}{k^2} \omega\left(\frac{1}{k}\right) \right\}.
 \end{aligned}$$

Therefore

$$\begin{aligned}
 \sum_{n=1}^{\infty} T_{43}(n) &\leq K \sum_{n=1}^{\infty} p_n \Delta\left(\frac{1}{P_{n-1}}\right) + K \sum_{n=1}^{\infty} p_n \Delta\left(\frac{1}{P_{n-1}}\right) \sum_{k=1}^{\infty} \omega\left(\frac{1}{k}\right) \frac{1}{k^2} \\
 &\leq K p_1 \sum_{n=1}^{\infty} \Delta\left(\frac{1}{P_{n-1}}\right) + K p_1 \sum_{n=1}^{\infty} \Delta\left(\frac{1}{P_{n-1}}\right) \leq K,
 \end{aligned}$$

by Lemma 4 and hypothesis (ii) of the theorem.

Now we notice that

$$\begin{aligned}
 T_1(n) &= \frac{1}{P_{n-1}} \left| \int_0^\pi \Phi(t) \sum_{k=0}^{\infty} p_k \cos(n-k)t \, dt \right| \\
 &= \frac{1}{P_{n-1}} \left| \int_0^\pi \Phi(t) \left\{ \sum_{k=0}^{\infty} p_k \cos kt \cos nt + \sum_{k=0}^{\infty} p_k \sin kt \sin nt \right\} dt \right| \\
 &\leq \frac{1}{P_{n-1}} \left| \int_0^\pi \Phi(t) \alpha(t) \cos nt \, dt \right| + \frac{1}{P_{n-1}} \left| \int_0^\pi \Phi(t) \beta(t) \sin nt \, dt \right| \\
 (2.2.1) \quad &= \frac{|\alpha_n| + |\beta_n|}{P_{n-1}}.
 \end{aligned}$$

And, by Lemma 2,

$$\int_0^\pi \alpha^2(t) \, dt \leq \int_0^\pi P^2(1/t) \, dt \leq K,$$

by virtue of the hypothesis (vi). Thus, since $\Phi(t)$ is bounded, α_n and β_n are the FOURIER coefficients of an even and odd function belonging to L^2 . The FOURIER series of $\Phi(t+h)\alpha(t+h) - \Phi(t-h)\alpha(t-h)$ is

$$-\frac{4}{\pi} \sum_{n=1}^{\infty} \alpha_n \sin nh \sin nt.$$

Applying PARSEVAL's relation, we get (*)

$$\begin{aligned}
 \sum_{n=1}^{\infty} \alpha_n^2 \sin^2 nh &\leq K \int_0^\pi \{\Phi(t+h)\alpha(t+h) - \Phi(t-h)\alpha(t-h)\}^2 dt \\
 &\leq K \int_0^\pi \alpha^2(t+h) \{\Phi(t+h) - \Phi(t-h)\}^2 dt \\
 &\quad + K \int_0^\pi \Phi^2(t-h) \{\alpha(t+h) - \alpha(t-h)\}^2 dt \\
 &= J_1(h) + J_2(h), \quad \text{say.}
 \end{aligned}$$

(*) Cf. McFADDEN [1], p. 196.

If x_1, x_2 lie in $(0, 2\pi)$, then by definition $|f(x_1) - f(x_2)| \leq \omega(1/n)$ for $|x_1 - x_2| \leq 1/n$. But, by virtue of hypothesis (i), we have, for sufficiently large n , $\omega(1/n) < \varepsilon$, an arbitrarily small number, and therefore $|f(x_1) - f(x_2)| < \varepsilon$. Thus $f(x)$ is continuous in $(0, 2\pi)$.

Now, since $f(t)$ is continuous and of bounded variation it follows that $\Phi(t)$ is also continuous and of bounded variation. Let V be the total variation of $\Phi(t)$ over $(0, 2\pi)$. We start from the inequality

$$\begin{aligned} & \sum_{k=1}^{2N} \left\{ \alpha \left(t + \frac{k\pi}{N} \right) \right\}^2 \left\{ \Phi \left(t + k \frac{\pi}{N} \right) - \Phi \left(t + (k-1) \frac{\pi}{N} \right) \right\}^2 \\ & \leq K P^2(1/t) \sum_{k=1}^{2N} \left\{ \Phi \left(t + k \frac{\pi}{N} \right) - \Phi \left(t + (k-1) \frac{\pi}{N} \right) \right\}^2 \\ & \quad \text{(by virtue of Lemma 2),} \\ & \leq K P^2(1/t) \omega_1 \left(\frac{\pi}{N} \right) \sum_{k=1}^{2N} \left| \Phi \left(t + k \frac{\pi}{N} \right) - \Phi \left(t + (k-1) \frac{\pi}{N} \right) \right| \\ & \leq K P^2(1/t) \omega_1 \left(\frac{\pi}{N} \right) V \quad \text{(by Lemma 1)} \end{aligned}$$

both sides of which we integrate over $(0, 2\pi)$, or what is the same thing, over $(-\pi, \pi)$. Now, on account of the periodicity (period 2π) and evenness of the integrands on the l.h.s. and the evenness of the integrands on the r.h.s., we get

$$\begin{aligned} & 2N \int_0^\pi \left\{ \alpha \left(t + \frac{\pi}{2N} \right) \right\}^2 \left\{ \Phi \left(t + \frac{\pi}{2N} \right) - \Phi \left(t - \frac{\pi}{2N} \right) \right\}^2 dt \\ & \leq K \omega \left(\frac{\pi}{N} \right) \int_0^\pi P^2(1/t) dt \leq K \omega \left(\frac{\pi}{N} \right), \end{aligned}$$

by virtue of the hypothesis (vi).

Hence, for $h = \pi/(2N)$,

$$J_1(h) = J_1(\pi/(2N)) \leq (K/N) \omega(\pi/N).$$

Next, we proceed to consider $J_2(h)$. We have

$$\begin{aligned}
 J_2(h) &= K \int_0^\pi \Phi^2(t-h) \{ \alpha(t+h) - \alpha(t-h) \}^2 dt \\
 &\leq K \int_{-h}^h \Phi^2(t) \alpha^2(t+2h) dt + K \int_{-h}^h \Phi^2(t) \alpha^2(t) dt \\
 &\quad + K \int_h^\pi \Phi^2(t) \{ \alpha(t+2h) - \alpha(t) \}^2 dt \\
 &= J_{21}(h) + J_{22}(h) + J_{23}(h), \quad \text{say.}
 \end{aligned}$$

Considering these integrals separately, we have

$$\begin{aligned}
 J_{21}(h) &\leq K \int_0^h \Phi^2(t) \alpha^2(t+2h) dt \\
 &\leq K \omega^2(h) \int_0^h \alpha^2(t+2h) dt, \\
 &\leq K \omega^2(h) \int_h^{3h} P^2(1/t) dt \quad (\text{by Lemma 2}) \\
 &\leq K \omega^2(h) P^2(1/h) h,
 \end{aligned}$$

by the hypothesis (vi).

Also,

$$\begin{aligned}
 J_{22}(h) &= K \int_{-h}^h \Phi^2(t) \alpha^2(t) dt \\
 &= K \int_0^h \Phi^2(t) \alpha^2(t) dt \\
 &\leq K \omega^2(h) \int_0^h P^2(1/t) dt \quad (\text{by Lemma 2}), \\
 &\leq K \omega^2(h) P^2(1/h) h,
 \end{aligned}$$

by the hypothesis (vi).

Next, by an application of the mean value theorem,

$$\begin{aligned}
 J_{23}(h) &= K \int_h^\pi \Phi^2(t) \{ \alpha(t+2h) - \alpha(t) \}^2 dt \\
 &\leq K h^2 \int_h^\pi \Phi^2(t) \{ \alpha'(t+2\theta h) \}^2 dt \quad (0 < \theta < 1) \\
 &\leq K h^2 \int_h^\pi \omega^2(t) \frac{1}{t^2} dt \\
 &\quad \left(\text{by hypothesis (iii), since } 0 < 2\theta h < \frac{\pi}{2} \right), \\
 &\leq K h^2 \int_{1/\pi}^{1/h} \omega^2(1/t) dt.
 \end{aligned}$$

Thus, taking, as before, $h = \pi/(2N)$, we obtain

$$\sum_{n=1}^{\infty} \alpha_n^2 \sin^2(n\pi/(2N)) \leq K \left\{ \frac{1}{N} \omega\left(\frac{\pi}{N}\right) + \frac{1}{N} \omega^2\left(\frac{\pi}{N}\right) P_N^2 + \frac{1}{N^2} \int_{1/\pi}^{2N/\pi} \omega^2\left(\frac{1}{t}\right) dt \right\}.$$

Putting $N = 2^v$, we have

$$\begin{aligned}
 \sum_{n=2^{v-1}+1}^{2^v} \alpha_n^2 &\leq 2 \sum_{n=2^{v-1}+1}^{2^v} \alpha_n^2 \sin^2(n\pi/2^{v+1}) \leq 2 \sum_{n=1}^{\infty} \alpha_n^2 \sin^2(n\pi/2^{v+1}) \\
 &\leq K \left\{ \frac{1}{2^v} \omega\left(\frac{\pi}{2^v}\right) + \frac{1}{2^v} \omega^2\left(\frac{\pi}{2^v}\right) P_{2^v}^2 + \frac{1}{2^{2v}} \int_{1/\pi}^{2^{v+1}/\pi} \omega^2\left(\frac{1}{t}\right) dt \right\}.
 \end{aligned}$$

Also, we have

$$\sum_{n=2^{v-1}+1}^{2^v} \frac{1}{P_{n-1}^2} \leq K \frac{1}{P_{2^v-1}^2} 2^{v-1}.$$

Therefore, by SCHWARZ'S and MINKOWSKI'S inequalities,

$$\begin{aligned} \sum_{n=2^{v-1}+1}^{2^v} \frac{|\alpha_n|}{P_{n-1}} &\leq \left\{ \sum_{n=2^{v-1}+1}^{2^v} |\alpha_n|^2 \right\}^{1/2} \left\{ \sum_{n=2^{v-1}+1}^{2^v} \frac{1}{P_{n-1}^2} \right\}^{1/2} \\ &\leq K \left[\frac{1}{2^{v/2}} \omega^{1/2} \left(\frac{\pi}{2^v} \right) + \frac{1}{2^{v/2}} \omega \left(\frac{\pi}{2^v} \right) P_{2^v} + \frac{1}{2^v} \left\{ \int_{1/\pi}^{2^{v+1}/\pi} \omega^2 \left(\frac{1}{t} \right) dt \right\}^{1/2} \right] \frac{2^{v/2}}{P_{2^v-1}} \\ &\leq K \left[\frac{1}{P_{2^v}} \omega^{1/2} \left(\frac{\pi}{2^v} \right) + \omega \left(\frac{\pi}{2^v} \right) + \frac{1}{2^{v/2} P_{2^v}} \left\{ \int_{1/\pi}^{2^{v+1}/\pi} \omega^2 \left(\frac{1}{t} \right) dt \right\}^{1/2} \right], \end{aligned}$$

by virtue of Lemma 9. Hence

$$\sum_2^\infty \frac{|\alpha_n|}{P_{n-1}} \leq K \left[\sum_{v=1}^\infty \frac{\omega^{1/2}(\pi/2^v)}{P_{2^v}} + \sum_{v=1}^\infty \omega \left(\frac{\pi}{2^v} \right) + \sum_{v=1}^\infty \frac{1}{2^{v/2} P_{2^v}} \left\{ \int_{1/\pi}^{2^{v+1}/\pi} \omega^2(1/t) dt \right\}^{1/2} \right] \leq K,$$

by virtue of Lemmas 6, 7 and 8 (ii).

Similarly, we can demonstrate that

$$\sum_2^\infty \frac{|\beta_n|}{P_{n-1}} \leq K,$$

and therefore, from (2.2.1),

$$\sum_2^\infty T_1(n) \leq K.$$

This completes the proof of our theorem.

My warmest thanks are due to Dr. T. PATI, of the University of Jabalpur, for his interest and advice during the preparation of this paper.

References.

- [1] L. MCFADDEN, *Absolute Nörlund summability*, Duke Math. J. 9 (1942), 168-207.
- [2] F. M. MEARS, *Some multiplication theorems for Nörlund means*, Bull. Amer. Math. Soc. 41 (1935), 875-880.
- [3] N. E. NÖRLUND, *Sur une application des fonctions permutables*, Lunds Univ. Årsskr. (2) 16 (1919).
- [4] M. RIESZ, *Sur l'équivalence de certaines méthodes de sommations*, Proc. London Math. Soc. 22 (1924), 412-419.
- [5] S. M. SHAH, *On the absolute harmonic summability of Fourier series*, Proc. Amer. Math. Soc. 13 (1962), 244-250.
- [6] O. P. VARSHNEY, *On the absolute harmonic summability of Fourier series*, Proc. Amer. Math. Soc. 11 (1960), 588-595.
- [7] G. F. WORONOI, *Extension of the notion of the limit of the sum of terms of an infinite series*, Ann. of Math. 33 (1932), 422-428.

* * *